Sz Egelan,
orate] & ol fetdole
SEH Solet g - 2 CEEEED
CRA - EB . SR(B) - MIRAY ofl &t i HIDEZ
gkt 46,590, 140 49,987,792 A3,397,652
= 8,602,381
[ 4,793,000
Il 1,118,682
= 32,076,077
cl & oflerdofe 7,900,612 7,461,871 438,741
= 10,000
= 4,793,000
Jl 1,118,682
= 1,978,930
I Soliet ey - 2& 5,215,446 5,156,000 59,446
[ 4,323,000
S 892,446
erEHI(=1) 3,891,314 3,890,000 1,314
= 3,448,000
[ 443,314
403 MR HMSKH=0lH 3,891,314 3,890,000 1,314
[ 3,448,000
= 443,314
01 AXISHH A= EX 3,891,314 3,890,000 1,314
O HEHI (500 A) 3,891,314
[ 3,448,000
= 443,314
HOMHH|(HQHAI Al MEH AL ) (2 1) 1,250,000 1,250,000 0
[ 875,000
= 375,000
207 AIHE 1,250,000 1,250,000 0
= 875,000
& 375,000
01 A2E Y| 1,250,000 1,250,000 0
OAHE A AENZAL 1,250,000
[ 875,000
S 375,000
BISOF Ser2te| 4,000 6,000 /2,000
202 04l 4,000 6,000 /2,000
01 2LHOIHI 4,000 6.000 22,000
OHtZIt Set2telthz 4,000
SR HAQIEXIZO0[ X 70,132 0 70,132
308 AR M S0IH 70,132 70,132
01 AXHHBELS 70,132 70,132
OgLt AQHOIMX|ZI0| Xl 70,132
SHEEH 28 & fdREES 2,685,166 2,305,871 379,295
= 10,000
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Az ssizEe 51013t
Hu: ololdial U HYBZIHA
Chol: CIOHMENT| BA U HUYBALS (crol:m2)
A3 2 - ZH - SR(BH) - MIRAY ofl &t i HIDEZ
[ 470,000
Jl 1,118,682
[ 1,086,484
TUE QLMY D] S0H(HEALY) 340,000 340,000
308 AXIHHSOIA 340,000 340,000
01 MASHHBSExS 340,000 340,000
OXYS AAMYD| =DH(HE) 340,000
HEESRATCIAI (B A (2D) 12,143 9,029 3,114
= 10,000
S 2,143
308 XXM SOIA 12,143 9,029 3,114
= 10,000
S 2,143
01 XN B ELS 12,143 9,029 3,114
Odfle2s A 2e| At 12,143
= 10,000
[ 2,143
Ml FaH=1) 705,000 425,000 280,000
s 470,000
= 235,000
308 NHRIEHMISOIE 705,000 425,000 280,000
= 470,000
S 235,000
01 XN B EELS 705,000 425,000 280,000
Oofl &2 ei0| 3t 705,000
= 470,000
= 235,000
HiCHEHZ X201 X (=1) 1,280,523 1,336,842 56,319
Il 853,682
= 426,841
308 AFXIEMSOIE 1,280,523 1,336,842 A56,319
Jl 853,682
= 426,841
01 XM B AExRS 1,280,523 1,336,842 A\56,319
otictE&3 X120l K& 1,280,523
l 853,682
S 426,841
HMeD| Hote Ax & Fak(Za 135,000 90,000 45,000
Il 90,000
[ 45,000
308 AFXIEHMSOIE 135,000 90,000 45,000
Il 90,000
= 45,000
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Az ssizEe SN oHYEe
S odokate| 2 o 2ErZofd
ol ClOMMEIH BN U UBFES (crol:m2)
A2 2N T O3 - NIRAY - BES Ofl ko i HimE==l
01 AXESHNBLEES 135,000 90,000 45,000
OdffLMeD| HotE 22 135,000
| 90,000
& 45,000
oMY Dl Bt AKX & HsH(AH2)(=1) 212,500 105,000 107,500
| 175,000
= 37,500
403 XX HMSAH=01H 212,500 105,000 107,500
| 175,000
& 37,500
01 AIXHHAN=2E X 212,500 105,000 107,500
Odf LMD &EotE &XI 212,500
| 175,000
& 37,500
o= -2l g DB =4 13,181,8% 9,715,740 3,466,155
= 8,592,381
& 4,589,514
ozt - AN elZet = 12,868,8% 9,567,740 3,301,155
= 8,592,381
= 4,276,514
el 2835t 2,000 2,500 A500
202 o4t 2,000 2,500 A500
01 =WO4HI 2,000 2,500 A500
Odidelld 43t HRFX 2,000
SHell 22 HolAld A ALY 9,300 20,000 10,700
403 XX SHHMSK=01M 9,300 20,000 210,700
01 XISHHAI2E X 9,300 20,000 A10,700
OOIOK&I2| oHHEZ L 9,300
M= HYAE= g 27,000 27,000 0
308 AXISHMSOIA 27,000 27,000
01 AIXIHHBAEES 27,000 27,000
OX= NAAELX (HE XA 27,000
HENEEL0IE MRE HEXA (=) HA,095 43,740 50,355
= 72,381
= 21,714
308 AtXISHMSO0IH 94,095 43,740 50,355
= 72,381
= 21,714
01 IXSHHBAEES A,095 43,740 50,355
OCENSF20IE AR HESXE 94,095
= 72,381
& 21,714
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Az ssizEe SA Csiaer
I ot - dld 28 D18 &
ool o2y - N olEet #15 (SH9: =)
U224 BHO(S) - MRAE - BAS ofl &t i HIDEZ
D HSI2XF AIHAY FE(21) 12,075,000 7,280,000 4,795,000
= 8,400,000
S 3,675,000
403 AXIEHMSA=01H 12,075,000 7,280,000 4,795,000
= 8,400,000
= 3,675,000
01 A= 2L 12,075,000 7,280,000 4,795,000
Oy HSB2XF AIHAIE F& 12,075,000
= 8,400,000
[ 3,675,000
==& SEEIA X (2D) 180,000 72,000 108,000
= 120,000
= 60,000
308 AFAIEHMISOIE 180,000 72,000 108,000
= 120,000
S 60,000
01 AXHHBSELS 180,000 72,000 108,000
Odl+==& &AL A& 180,000
= 120,000
& 60,000
Sollet HALZ e ZHIx 22HAY 56,500 56,500
201 ger=3y| 36,500 36,500
01 AtR2tclH] 36,500 36,500
OSoliot I QIO AE & 2F 36,500
207 ARl 20,000 20,000
01 H2ESHI 20,000 20,000
OSolor OIHQIHOHAF &2t 20,000
HYAMAEE XA (HEALL) 350,000 400,000 /50,000
308 NHXIEMSOIH 350,000 400,000 50,000
01 XN B SELS 350,000 400,000 50,000
O NAEZ= NEEZ N X3 (HE) 350,000
S8 20N s 4 45,000 45,000
403 AXIEMSA=01H 45,000 45,000
01 HXIHHA 22X 45,000 45,000
O=sg 2] &322 24 45,000
SHO o A2E =4 30,000 30,000
403 TR SHMSAH=01H 30,000 30,000
01 AR A= E & 30,000 30,000
ORI of#H =t &4 30,000
OFX 23 MY |4 313,000 148,000 165,000
dFX 22 245 =8 313,000 148,000 165,000
202 044 3,000 3,000 0

- 1112 -




Soi== = EEgelan
ofefatd - i && Jlgh &4
X 22 MY |4 (Ete M)
U2 2A - IH - S(B) - MRAE - ofl &t i HIDEZ
01 2LHOIHI 3,000 3,000 0
oa=rx 2 X 3,000
308 AXIHHSOIA 310,000 145,000 165,000
01 XN B EELS 310,000 145,000 165,000
oza=Xx 28 X&E 310,000
ol At ED| B S 2,053,100 1,050,510 1,002,590
ol Se=7 gdst 1,623,900 716,110 907,790
de N2 243 XY 1,623,900 716,110 907,790
201 ZBt2 ] 6,900 36,550 A\28,650
01 AFR2telH] 6,900 34,350 N27,450
O=Ng=z Es20E 6,900
202 04t 7,000 8,500 A1,500
01 2LHOIHI 7,000 8,500 1,500
O=HezZ S=L0HE 7,000
308 AHXIEMISOIE 610,000 672,060 262,060
01 HAHHBSEx= 610,000 672,060 262,060
oRde gds XA 610,000
405 KHaHE SH] 1,000,000 1,000,000
01 AL ESF =4I 1,000,000 1,000,000
O=xg =MOBEOIE 0He 1,000,000
stz st d2xd 429,200 334,400 94,800
otMst Eoi+==8 29 Ad 6,800 6,800 0
202 O 6,800 6,800
01 =LA 6,800 6,800
Odfl+==& & & o2 Aty =8 6,800
oi+==8 gdat N3 422,400 327,600 94,800
308 NHRIEHMISOIE 422,400 327,600 94,800
01 MAHHBSEx= 422,400 327,600 94,800
OotMst o2& 298 XA 422,400
sty o 2tel 1,453,140 7,183,952 A5,730,812
o=y et 1,453,140 7,183,952 Nb,730,812
fog gtz2g N 21,600 23,000 21,400
201 eEr=2E | 18,000 18,000 0
01 AtR2teld] 8,000 10,000 A2,000
of9s 29 € 2al 8,000
02 S22l 10,000 8,000 2,000
oR9g 29 % el 10,000
202 Ol 3,600 5,000 21,400
01 2oL 3,600 5,000 1,400
oFgg 24 NA 3,600
£x8 NIFEEOE S+=dBl2 29 71,540 27,552 43,988
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Az gsizEe SN oHYEe
g g2 g2t g £ 28 Xd
celr Agae] 29g Stzd (91 =)
U224 BHO(S) - MRAE - BAS ofl &t i HIDEZ
02 Zc/d 1,000,000 0 1,000,000
OH& A2 SA(ME) 1,000,000
03 Al 20HHI 16,000 76,500 260,500
O5MEHHF AL FUNNMH A (RS (H
&) 16,000
YA P (GHEerm) 57,593 50,519 7,074
JlI=dHl 57,593 50,519 7,074
FA2E J122H] 57,593 50,519 7,074
201 Let2a| 31,505 27,629 3,876
01 AlR2telbl 31,505 27,629 3,876
SN2 A2l 31,505
202 O 20,748 17,850 2,898
01 =LA 20,748 17,850 2,898
FAEY =L 20,748
203 =& 5,340 5,040 300
04 FAZSER=E 5,340 5,040 300
ORKN=2g ERF4H| 445,000 122 5,340
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